
? 









Statements: 

All shirts are pants. 

No pant is trousers. 

Some jackets are pants. 

Conclusions: 

I. All shirts being jackets is 

a possibility. 

II. No trousers are shirt. 

III. There is a possibility that all 

shirts are trousers. 

IV. All pants being jackets is a possibility. 

कथन:
सभी शर्ट पैंर् हैं।

कोई पैंर् पतलून नही ीं है।

कुछ जैकेर् पैंर् हैं।

ननष्कर्ट : 
I. सभी शर्ट का जैकेर् होना एक
सींभावना है।

II. कोई पतलून शर्ट नही ींहैं।
III. सभी शर्ट का पतलून होना एक
सींभावना है।

IV. सभी पैंर् का जैकेर् होना एक
सींभावना है।



Statements: 

All shirts are pants. 

No pant is trousers. 

Some jackets are pants. 

Conclusions: 

I. All shirts being jackets is 

a possibility. 

II. No trousers are shirt. 

III. There is a possibility that all 

shirts are trousers. 

IV. All pants being jackets is a possibility. 



Which number will replace the question mark ?

(A) 9B (B) 4B
(C) 12A (D) 12B

4A 6C 24B

5A ? 45C

9B 4C 36A



Which number will replace the question mark ?

(A) 361 (B) 296
(C) 65 (D) 19

4

?

49

529

169

10

9 12

3 8

5

11



Which number will replace the question mark ?

(A) 28 (B) 32
(C) 27 (D) 20

65

3

33

49

6

42

37

6

?



Which number will replace the question mark ? 
(A) 3 (B) 4
(C) 5 (D) 7

9 17 16

5 4 5

5 4 ?

50 72 87



Which number will replace the question mark ?

(A) 30 (B) 13
(C) 70 (D) 118

15

3

12 44

8

28 64 53

?



Which number will replace the question mark ?

(A) 262 (B) 622

(C) 631 (D) 824

551

9
1

5

3
6

4

246

5
4

3

7
8

9

?

8
6

3

2
4

1



Which number will replace the question mark ?

(A) 22 (B) 33
(C) 66 (D) 77

42 44 38

23 55 28

37 ? 39



Which number will replace the question mark ?

(A) 185 (B) 126
(C) 269 (D) 145



Which number will replace the question mark ?

(A) 5 (B) 6
(C) 14 (D) 8



Which number will replace the question mark ?

(A) 1084 (B) 484
(C) 49 (D) 36

? 25 16

529 169 81

676 144 49



Which number will replace the question mark ?

(A) 13 (B) 6
(C) 17 (D) 22

? 13 15

9 28 4

13 12 16



Which number will replace the question mark ?

(A) 48 (B) 7
(C) 28 (D) 36

55 22 28

33 44 28

66 33 ?



Which number will replace the question mark ?

(A) 104 (B) 105
(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Which number will replace the question mark ?

(A) 4 (B) 3
(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Which number will replace the question mark ?

(A) 3 (B) 7
(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



Which number will replace the question mark ?

(A) 42 (B) 32
(C) 52 (D) 22

4

15 8

48

7

5

6

21

5

7

12

?



(A) 186 (B) 168
(C) 233 (D) 266

105

1
5

0

3
4

2

119

2
1

2

5
3

4

?

8
2

3

5
4

2

Which number will replace the question mark ?



(A) 19 (B) 21
(C) 20 (D) 22

45

32 13

55 29

92 63

37 47

Which number will replace the question mark ?

?



Which number will replace the question mark ?

(A) 17 (B) 14
(C) 16 (D) BOTH 17 AND 14

7 6 17

8 4 18

5 8 ?


